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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3522 ±Constant = 3.254 

 0.6936 ±Mean     = 119.1 

 0.4904 ±Sigma    = 7.847 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3522 ±Constant = 3.254 

 0.6936 ±Mean     = 119.1 

 0.4904 ±Sigma    = 7.847 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3439 ±Constant = 3.177 

 0.7104 ±Mean     = 117.7 

 0.5023 ±Sigma    = 8.037 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3439 ±Constant = 3.177 

 0.7104 ±Mean     = 117.7 

 0.5023 ±Sigma    = 8.037 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.329 ±Constant = 3.039 

 0.7427 ±Mean     = 119.6 

 0.5251 ±Sigma    = 8.402 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.329 ±Constant = 3.039 

 0.7427 ±Mean     = 119.6 

 0.5251 ±Sigma    = 8.402 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3544 ±Constant = 3.267 

 0.6908 ±Mean     = 118.8 
 0.4886 ±Sigma    = 7.815 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3544 ±Constant = 3.267 

 0.6908 ±Mean     = 118.8 
 0.4886 ±Sigma    = 7.815 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.351 ±Constant = 3.243 

 0.696 ±Mean     = 119.1 
 0.4921 ±Sigma    = 7.874 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.351 ±Constant = 3.243 

 0.696 ±Mean     = 119.1 
 0.4921 ±Sigma    = 7.874 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3268 ±Constant = 3.019 

 0.7476 ±Mean     = 119.6 
 0.5286 ±Sigma    = 8.458 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3268 ±Constant = 3.019 

 0.7476 ±Mean     = 119.6 
 0.5286 ±Sigma    = 8.458 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.638 ±Constant = 24.37 
 0.0926 ±Mean     =  52.5 
 0.06548 ±Sigma    = 1.048 

Chip 0 Gain at 2.00fC Nent = 128    

 2.638 ±Constant = 24.37 
 0.0926 ±Mean     =  52.5 
 0.06548 ±Sigma    = 1.048 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.294 ±Constant = 21.19 
 0.1065 ±Mean     = 52.19 
 0.0753 ±Sigma    = 1.205 

Chip 1 Gain at 2.00fC Nent = 128    

 2.294 ±Constant = 21.19 
 0.1065 ±Mean     = 52.19 
 0.0753 ±Sigma    = 1.205 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.726 ±Constant = 25.18 
 0.08961 ±Mean     = 51.61 
 0.06336 ±Sigma    = 1.014 

Chip 2 Gain at 2.00fC Nent = 128    

 2.726 ±Constant = 25.18 
 0.08961 ±Mean     = 51.61 
 0.06336 ±Sigma    = 1.014 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.713 ±Constant = 25.06 

 0.09005 ±Mean     = 53.11 

 0.06367 ±Sigma    = 1.019 

Chip 3 Gain at 2.00fC Nent = 128    
 2.713 ±Constant = 25.06 

 0.09005 ±Mean     = 53.11 

 0.06367 ±Sigma    = 1.019 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.925 ±Constant = 27.02 

 0.08353 ±Mean     = 52.71 

 0.05906 ±Sigma    = 0.945 

Chip 4 Gain at 2.00fC Nent = 128    
 2.925 ±Constant = 27.02 

 0.08353 ±Mean     = 52.71 

 0.05906 ±Sigma    = 0.945 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.127 ±Constant = 19.64 

 0.1149 ±Mean     = 52.17 

 0.08123 ±Sigma    =   1.3 

Chip 5 Gain at 2.00fC Nent = 128    
 2.127 ±Constant = 19.64 

 0.1149 ±Mean     = 52.17 

 0.08123 ±Sigma    =   1.3 
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Chip 0 Extrapolated Offset Nent = 128    
 1.199 ±Constant = 11.08 

 0.6519 ±Mean     = 14.12 
 0.4609 ±Sigma    = 7.375 

Chip 0 Extrapolated Offset Nent = 128    
 1.199 ±Constant = 11.08 

 0.6519 ±Mean     = 14.12 
 0.4609 ±Sigma    = 7.375 
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Chip 1 Extrapolated Offset Nent = 128    
 1.216 ±Constant = 11.23 

 0.643 ±Mean     = 13.37 
 0.4546 ±Sigma    = 7.275 

Chip 1 Extrapolated Offset Nent = 128    
 1.216 ±Constant = 11.23 

 0.643 ±Mean     = 13.37 
 0.4546 ±Sigma    = 7.275 
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Chip 2 Extrapolated Offset Nent = 128    
  1.07 ±Constant = 9.888 

 0.7303 ±Mean     = 17.05 
 0.5164 ±Sigma    = 8.263 

Chip 2 Extrapolated Offset Nent = 128    
  1.07 ±Constant = 9.888 

 0.7303 ±Mean     = 17.05 
 0.5164 ±Sigma    = 8.263 
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Chip 3 Extrapolated Offset Nent = 128    

  1.14 ±Constant = 10.53 
 0.6858 ±Mean     = 12.25 
 0.4849 ±Sigma    = 7.759 

Chip 3 Extrapolated Offset Nent = 128    

  1.14 ±Constant = 10.53 
 0.6858 ±Mean     = 12.25 
 0.4849 ±Sigma    = 7.759 
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Chip 4 Extrapolated Offset Nent = 128    

 1.187 ±Constant = 10.97 
 0.6586 ±Mean     = 13.23 
 0.4657 ±Sigma    = 7.451 

Chip 4 Extrapolated Offset Nent = 128    

 1.187 ±Constant = 10.97 
 0.6586 ±Mean     = 13.23 
 0.4657 ±Sigma    = 7.451 
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Chip 5 Extrapolated Offset Nent = 128    

 1.021 ±Constant = 9.434 
 0.7655 ±Mean     = 15.31 
 0.5412 ±Sigma    =  8.66 

Chip 5 Extrapolated Offset Nent = 128    

 1.021 ±Constant = 9.434 
 0.7655 ±Mean     = 15.31 
 0.5412 ±Sigma    =  8.66 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 5.089 ±Constant = 47.01 

 3.201 ±Mean     =  1564 

 2.263 ±Sigma    = 36.21 

Chip 0 Input Noise at 2.00fC Nent = 128    
 5.089 ±Constant = 47.01 

 3.201 ±Mean     =  1564 

 2.263 ±Sigma    = 36.21 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.174 ±Constant = 38.55 

 3.902 ±Mean     =  1605 

 2.759 ±Sigma    = 44.15 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.174 ±Constant = 38.55 

 3.902 ±Mean     =  1605 

 2.759 ±Sigma    = 44.15 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.984 ±Constant = 46.03 

 3.268 ±Mean     =  1594 

 2.311 ±Sigma    = 36.98 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.984 ±Constant = 46.03 

 3.268 ±Mean     =  1594 

 2.311 ±Sigma    = 36.98 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.485 ±Constant = 50.67 
 2.969 ±Mean     =  1533 
 2.099 ±Sigma    = 33.59 

Chip 3 Input Noise at 2.00fC Nent = 128    

 5.485 ±Constant = 50.67 
 2.969 ±Mean     =  1533 
 2.099 ±Sigma    = 33.59 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 5.568 ±Constant = 51.43 
 2.925 ±Mean     =  1545 
 2.068 ±Sigma    =  33.1 

Chip 4 Input Noise at 2.00fC Nent = 128    

 5.568 ±Constant = 51.43 
 2.925 ±Mean     =  1545 
 2.068 ±Sigma    =  33.1 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.514 ±Constant = 41.69 
 3.608 ±Mean     =  1579 
 2.551 ±Sigma    = 40.82 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.514 ±Constant = 41.69 
 3.608 ±Mean     =  1579 
 2.551 ±Sigma    = 40.82 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3451 ±Constant = 3.188 

 0.7079 ±Mean     = 117.9 

 0.5005 ±Sigma    = 8.009 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3451 ±Constant = 3.188 

 0.7079 ±Mean     = 117.9 

 0.5005 ±Sigma    = 8.009 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3704 ±Constant = 3.422 

 0.6595 ±Mean     = 117.3 

 0.4664 ±Sigma    = 7.462 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3704 ±Constant = 3.422 

 0.6595 ±Mean     = 117.3 

 0.4664 ±Sigma    = 7.462 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3527 ±Constant = 3.252 

 0.694 ±Mean     = 118.6 

 0.4909 ±Sigma    = 7.851 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3527 ±Constant = 3.252 

 0.694 ±Mean     = 118.6 

 0.4909 ±Sigma    = 7.851 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3351 ±Constant = 3.094 

 0.7295 ±Mean     = 122.1 
 0.5158 ±Sigma    = 8.253 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3351 ±Constant = 3.094 

 0.7295 ±Mean     = 122.1 
 0.5158 ±Sigma    = 8.253 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1512 ±Constant = 1.351 

 1.712 ±Mean     = 61.67 
 1.378 ±Sigma    =  18.9 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1512 ±Constant = 1.351 

 1.712 ±Mean     = 61.67 
 1.378 ±Sigma    =  18.9 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3469 ±Constant = 3.189 

 0.7076 ±Mean     = 119.4 
 0.5009 ±Sigma    = 8.006 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3469 ±Constant = 3.189 

 0.7076 ±Mean     = 119.4 
 0.5009 ±Sigma    = 8.006 
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 2.749 ±Constant =  25.4 
 0.08886 ±Mean     = 51.61 
 0.06283 ±Sigma    = 1.005 

Chip 0 Gain at 2.00fC Nent = 128    

 2.749 ±Constant =  25.4 
 0.08886 ±Mean     = 51.61 
 0.06283 ±Sigma    = 1.005 
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 2.557 ±Constant = 23.62 
 0.09555 ±Mean     = 52.21 
 0.06756 ±Sigma    = 1.081 
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 2.557 ±Constant = 23.62 
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 2.254 ±Constant = 20.82 
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 2.351 ±Constant = 21.72 

 0.1039 ±Mean     = 53.52 

 0.07348 ±Sigma    = 1.176 
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 0.3181 ±Constant = 2.925 

 0.7749 ±Mean     = 28.15 

 0.5574 ±Sigma    = 8.734 
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 2.422 ±Constant = 22.37 

 0.1009 ±Mean     = 53.46 

 0.07134 ±Sigma    = 1.141 
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 1.216 ±Constant = 11.24 
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 1.103 ±Constant = 10.19 
 0.7088 ±Mean     = 11.97 
 0.5012 ±Sigma    = 8.019 
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 5.369 ±Constant = 49.59 

 3.034 ±Mean     =  1582 

 2.145 ±Sigma    = 34.32 
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 4.231 ±Constant = 39.09 

 3.849 ±Mean     =  1530 

 2.722 ±Sigma    = 43.55 
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 3.076 ±Constant = 28.41 
 5.295 ±Mean     =  1559 
 3.744 ±Sigma    = 59.91 
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 3.744 ±Sigma    = 59.91 
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